MpoussoamTENb FAPAHTUPYET COOTBETCTBUE N3NNI XAPAKTEPUCTUKAM,
YKO3OHHBIM B MACMOPTE, B TEYEHWNE raPAHTUAHOMO CPOKA, NPW COB0aeHNN
TPEBOBAHWI MO YCTAHOBKE W SKCMIYATALMK. T[APAHTUS HE PACMPOCTPAHSETCS
HQ Cnydan, Koraa gedekTbl BO3HUKIIM MO BUHE NMOTPEBUTENS MW TPETbUX KL, B
pe3ynbTaTe HAPYLLEHNUS MPABUI TPAHCIOPTUPOBKM, XPAHEHMS, MOHTAXA,
SKCMYATALMM, O TAK KE BHECEHUS UBMEHEHUI 1 [OPAB0TOK
B KOHCTPYKLMIO.

MpounsBoamTenb He HECET OTBETCTBEHHOCTM 30 HOHECEHME YLLEeP6a UMYLLIECTBY
TPETBUX NULL B PE3YSETATE HEMPABUIIBHOTO
XPAHEHNS U SKCMNYATALMN U3AENMS.

The manufacturer guarantees compliance of the product with the
characteristics specified in the manual during the warranty period, in case of
installation and operation requirements compliance. The warranty does not
apply in cases where defects appear due to the consumer or third parties’ fault,
as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction. The
manufacturer is not responsible for damage to the property of third parties as a
result of incorrect storage and use of the product.

CBUAOETEJNIbCTBO O NPUEMKE
CERTIFICATE OF ACCEPTANCE

[aTa ynakosku Ltamn OTK
Packing date Stamp of the
Quality control

CBUAOETENBbCTBO O NPOOAXE

SALE CERTIFICATE
JaTta npopokun Lramn marasuHa
Date of sale Store stamp

TOPAHTUIHBIA CPOK 12 MecsLEB C AATbI PO3HUYHOM MPoaaxu. CoxpaHsitTe
[IOHHbIA JOKYMEHT B T@YEHME BCEro MAPAHTUHOIO CPOKA.
(Warranty period is 12 months from the date of retail sale. Keep this document
during the entire warranty period.)

8 (800) 555 20 90
www.ptuning.ru

@ PT GROUP

Taroso-cLenHoe yCTPOMCTBO
™mna AV

UHCcTpyKuMs No yCTAHOBKE
W aKkcnnyatauuu

AV type coupling device

Installation and operating instructions

CbéMm
6amnepa
Her (No)

Bumper
disassembles

<
£

Aa (Yes)

Moppeska
6amnepa

Her (No)

Burper

ApTukyn: Mapka u Mmogenb asToMo6uns: y
Volkswagen Transporter 2003~

VTR-03-991422.00  Myitivan 2003-/ Caravelle 2003-

* - MogxoguT Ha komnnekTaumm ¢ 2003 r.B. NO HACTOSLLEE BPEMSL.
Suitable for configurations from 2003 to the present.



UHCTPYKLMS NO YCTAOHOBKE KPIOKa
Installation instructions

N\

) Each time you install the towball into the socket, you

) ¥ Detach the towball if you do not plan to use a trailer.

Mepepn TeM, KaK UCMOSb30BATb CbEMHbIN KPIOK, HEO6X0-
LMMO O3HAKOMUTBLCS C MHCTPYKUMEN.

BHeceHMe M3MEHEHUIM B KOHCTPYKLMIO CbEMHOIO KPIOKA
1 MPUEMHOE OTBEPCTME 3AMPELLEHO.

Kakne-nméo MexaHnyeckme NoBpeXaeHNs CbEMHOIO
KPKOKA M MPUEMHOIO OTBEPCTUS UCKITIOUYAKOT €ro
OONbHENLUYIO 3KCTTYyATALMIO.

[ns MOHTOXA ¥ AEMOHTAXA CbeMHOro Kptoka (1)
HeO6X04MMO MPUMEHSTb TOMBKO CUNY PYK. MIcnons3oBa-
HVe [OMONMHUTENbHBIX MHCTPYMEHTOB MOXET NPUBECTYU K
MOSIOMKE CLIEMHOMO MEXAHM3MA.

MpounsBoAMTENb HE HECET OTBETCTBEHHOCTM 30 BO3HMK-
LUKe NMOBPEXAEHNS B CIydde HECOBMIIOAEHUS MPABUT
SKCMIYATALMM U MOHTOXA CbEMHOTO KPIOKA.

Kaxpbli pa3 nocne yCTAHOBKM CbEMHOTO KPIoKA B
NpPVYEMHOE OTBEPCTHE HEOBXOAMMO YOEANUTLCS, UTO Bbl
BUAMTE 3eMeHOe Mose Ha PYKOSTKE CbeMHOMO KPIoKa
(3), M MPUMEHUTL foMONHUTENBHOE PU3MUECKOe yCUne
LN TOTO, UTOBbI Y6eUTbCS, UTO CbeMHbIN KPIOK
HOAEXHO 3aKPErIeH B MPUeMHoM oTeepcTin (6).

CopepxuTte B YUNCTOTE 3AMOPHbI MEXAHU3M CbEMHOTO
KPIOKA 1 nocagoyHoe MecTo. [locne oeMoHTaxXa
CbEMHOrO KPIOKA yCTaHoBUTE 3aryLuky (1). Hanmume
NMOCTOPOHHMX 3ArPS3HEHM MOXET NPUBECTM K HEKOP -
PEKTHOV PABOTE M3AENUS.

OTCoenmHUTE CbEMHBI KPIOK, €CMNM Bbl HE MNAHUPYeTe
MCMOSb30BATH MpULLEM.

Please read the manual, before using the towball.

Any modifications of the towball and the socket are
straightly prohibited.

Any mechanical damage of the towball and the socket
precludes its further exploitation.

You have to use only arm force to install and dismantle
the towball (1). Using additional tools may damage the
coupling mechanism.

The manufacturer is not responsible for damage caused
in case of non-compliance with the rules of operation
and installation of the towballl.

must ensure that you can see the green field on the
towball handle (3] and apply additional physical force to
ensure that the towball is securely fastened in the
socket. (6)

Keep the towball locking mechanism and socket clean.
After removing the towball, install the plug (1). The
presence of foreign contaminants may lead to incorrect
operation of the product.




3HakomMmcTBO ¢ Bawmm papkonom

dapkon Tmna AV OCHALLEH BbICTPOCHEMHON CUCTEMON OEMOHTAXA CbEMHOWM
yacTn dapkona (KproKa) ¢ KIoYeBbiM JOCTYNOM M CoYeTaeT B cebe yao6CTBO
3KCMIYATALMM U BEICOKYHKO CTEMEHb 3ALLMLLEHHOCTMN OT MOTEHLMAIBHOM KPOXM.
BbirogHbIM MPenMyLLIECTBOM KOHCTPYKLMM dapkona Tuna AV aenseTcs To, YTO Npu
OEMOHTUPOBAHHOM KPIOKE HO BTOMOGMIE OTCYTCTBYIOT BU3YCQ TbHbIE MPU3HAKM
YCTAHOBMNEHHOro Gapkona.

YCTAHOBKA M CbEM KPKOKA HE TPeByeT KAKUX-NIMBO MHCTPYMEHTOB. Cnuctema
3ANMPAHUS KPIOKA HA MPUEMHOM YaCT GApPKOMNA BbIMOHEHA C MOMOLLbIO CMELMASIbHO
PA3PABOTAHHOrO CTOMOPHOIO MEXAHM3MA. [TpK YCTOHOBKE KPIOKA ero pukcaums B
NPUEMHON YaCTW GAPKOMNA NPOUCXOOUT ABTOMATUYECKN. [119 AEMOHTAXA CbeMHOM
yacTu dapkona (Kproka) TpedyeTca BCero asa AerCTBUS: MOBEPHYTh KoY B OTKPLITOE
COCTOSIHVE W YCTAOHOBWUTb PYUKY KPIOKA B MOSIOXEHWE PA3GIOKMPOBAHO, UTO B
3HAUYNUTENBHOW CTEMEHM NOBLILLAET KOMGOPT SKCMTyATALMKN GAPKOMNA.

Kaxgbi kptok dapkona tmna AV nogeepraeTtcs 50-4acoBoMy CreumanbHOMy
NCMbITAHWIO HO YCTANOCTb B TAB60PATOPUN NpounssoanTens. Bo BpemMs oaHHOro Tecta B
TeYeHUN 2 MUITIMOHOB LIMKITOB UCMbITbIBOKOTCS XAPAKTEPUCTUKU KPIOKA HA
COOTBETCTBME 3ASBMEHHbBIM TArOBbLIM MAPAMETPAM.

3TO rapAHTUPYET HAM, UTO KOXAbIA MNPOOYKT MMEET OOAMHAKOBOE KOYECTBO.
KauecTBo nponykLumm Takxe noareepxaeHo ceptmuomkaTom N2, E4 nonyueH
NHcTuTyTOM cepTudmkaumm RDW B fonnaHguum.

Meet your AV type coupling device

The AV type coupling device is equipped with a quick-release system for
dismantling the removable part of the device (towball) with key access and combines
ease of use and a high degree of security against potential theft. Advantage of the
AV type coupling device design is that when the towball is disassembled, there are no
visual signs of an installed towbar on the vehicle.

Assembly as well as disassembly does not require any tools. In these systems a
towball is mounted to the socket by a specially designed locking bolt. It can be
mounted by plugging the towball to the socket and it locks itself automatically. To
disassemble the towball, only two steps are required: turn the key to the open position
and set the towball handle to the unlocked position. Automatic systems significantly
raise the comfort of usage.

Each towball, before market sale, is subjected to approximately 50-hours of a
special fatigue test in producer laboratory. The test is based on checking its strength
by 2 million cycles under certain weight. It ensures us that every product has the same
quality.

The quality of our products is also certified with approval no. E4 received by
Certification Institute RDW in Holland.




[lacnopT usgenus

Product passport

VTR-03-991422.00

" Banka TCY
(Coupling device beam)

KpoHLLTenHb 60KOBbIE
(Side brackets)

3 - x1 | Knacc npouHocTv MeTuaos: BonT - 8.8, Faitka - 8

(Hardware strength class: Screw - 8.8, Nut - 8)
M10 47
M12 80

4 x1

Kptok MexaHuama
6ébicTpockéma (Towball)

5,x1

'l
Sl

Kopnyc MexaHusma
6bICTPOCHEMA
(Towball socket)

~N

(Socket bracket)
M10x1,25x30 M12x25

~

8 x4 9 x8

M12x1,25x40 210

'IO x8

Q

1 x10

—

it
4
6 x8
3 x3

X6

Nz
12 x10

Q | =

14 x1 15 X1

characteristics
Tun (Type): A50-X

D(kN) H(kg)
15,8 150
T(kg) Alkg)

3000 |750/3500*

H - MakcUMansHO gonycTuMast
CTATUYECKASs BEPTUKASbHAS
HArPY3Ka Ha LWap;

T- TexHMYeckmn nonyctmMasa
MAKCUMANbHAA MACCA Taraya;

A- MOKCUManbHAg Macca
npwvLena no AaHHbIM
npowssogutens TCY.

(* - ons npuuena,06opyao-
BAHHOIO TOPMO3AMM)

\_ 210 o0 o2 (SaLocking Qo i) (Towbasneid) Creabantag© )
~
TeXH nyeckKkume D= (g*T*A)/(T+A) - ropusoH- D= (g*T*A)/(T+A) - horizontal
TaQnbHAS CMNA, OENCTBYOLWAS force acting between the
XQpCIKTepMCTMKM MeXay TAra4yoM 1 NPULLENOM; tractor and the trailer;
Technical

H - maximum allowable static
vertical load on the ball;

T - technically permissible
maximum weight of the
vehicle;

A - maximum trailer weight
according to the AV type
coupling device producer.

(* - for a trailer equipped with
brakes)

J




UHCTpPYKLMSA NO YCTAHOBKE
Installation instructions

LUAT 1.

Mepepn yctaHoskon TCY BEMOHTUPYTE 308HWI
6amMnep, ycunuTenb 304Hero 6aMnepa, o TaK xe
MNACTUKOBYIO HOKOAKY, 30KPbIBAIOLLYIO AHMLLE
GBTOMOBMNS, COMNMACHO PYKOBOACTBY MO
3KCMIYATALMM OBTOMOGUNS.

STEP 1.

Before installing the coupling device,
dismantle the rear bumper, rear bumper
reinforcement, as well as the plastic cover
covering the bottom of the car, according
to the car's operating manual.

LUAT 2.

BcTaBbTe 30KN04HbIE MAACTUHbI B HULLIK
JIOHXEPOHOB FANKAMU HOPYXY OBTOMOBUAS,
KOK MOKO3QHO HO CXeMe 1 3adukcupyinte
nonoxeHve npu nomoLm 6ontos M10x1,25x30,
waré 10 n rposepHbIx Wwainé 10.
CoeguHeHus He 3aTaruBartb!

STEP 2.

Insert the mounting plates into the niches of
the side members with the nuts facing
outwards of the car, as shown in the picture
and fix the position using M10x1.25x30 bolts,
10 washers and 10 lock washers.

Do not tighten the connections!

LUAT 3.

[ng yno6CcTBa fanbHemLwen yCTAOHOBKM
PEKOMEHLYETCA NPEOBAPUTENBHO
3AKPENUTL KOPMYC MEXAHM3MA
6bICTPOCHEMA M KPOHLLTENH PO3ETKM HA
éarnke TCY npwu nomoLum 6ontos M12x25,
LWané 12 v wans 12 rpoBepHbIX.

STEP 3.

For comfort further installation It is
recommended to pre-fix the towball socket
and socket bracket on the coupling device
beam by using M12x25 bolts, 12 washers and
12 lock washers.

LLAT 4.

YctaHosute 6anky TCY, coemecTns BEPXHUE
OTBEPCTUS B 3AKIIAAHbIX 1 OTBEPCTUS B 6ANKe
TCY. CoeanHuTe 1X C NOMOLLbKD 60NTOB
M12x1,25x40 yepes wainbbl 12 rpoBepHble

1 Wanébl 12. C NOMOLLBIO XOMYTOB 13 KOMMEKTA
MOCTABKM 30KPENUTE MPOBOAKY NMAPKTPOHMKOB.
OBpexbTe YCUKM XOMYTOB C MOMOLLBIO HOXO!
UM Kycadex.

Ortperynupyite nonoxexne TCY u 3aTaHuTe
BCe COefUHEeHMUS.

YCTOHOBUTE 3aAHWUA 6AMNEP U HAKAAKY HA
MecTO.

STEP 4.

lInstall the coupling device beam by aligning
the TOP holes in the inserts and the holes in
the coupling device beam. Connect them
with bolts M12x1.25x40 through 12 bushing
washers and 12 washers. Using the clamps
included in the delivery set, secure the
parking sensor wiring. Trim the tendrils of the
clamps using a knife or wire cutters. Adjust
the coupling device position and tighten all
connections.

Reinstall the rear bumper and trim.

LLIAT 5.

BcTaBbTe KpIoK B MPUEMHYIO HYaCTb GapKona,
€ro [oNbHeLLAas GUKCALMS 1 30MMpPaHne
NPOU30AaYT ABTOMATUYECKM.

YCTQHOBKO 30BepLUeHal

STEP 5.

Insert the towball into the coupling device
socket, its further fixation and locking will
happen automatically.

Installation completed!




s

Tpe6oBaHMUs K 6€30NACHOMN 3KCNNyaTALMM:

SESESNSESEE

S

8-

8 B

S

MNepepn yctaHoskom TCY HEO6XOOMMO YTOUHUTE BO3MOXHOCTb BYKCMPOBKM NpuLena Ans GAaHHOro
QBTOMOGMINSA B PYKOBOACTBE MO 3KCMYyATALMM.

YCTaHOBKY 1 akcnnyatauuio TCY NpoBOAUTL B CTPOrOM COOTBETCTBUM C AAHHOM MHCTPYKLUMEN MO
YCTQHOBKE.

3or||oeu.|.oeTc9| YCTAHABAMBATL U3Oenne Ha Opyryto MApPKy M MoLelb OBTOMOGUNIS.

Yctanosky TCY BbINOMAHSTL B CMELMANN3NPOBAHHOM CETPUPULIMPOBAHHOM YCTAHOBOYHOM
LeHTpe. 3anpeLLoeTcs BHOCUTb M3MEHEHMS B KOHCTPYKUmo TCY.

MK 06HAPYXEHUM KOHCUCTEHTHOM CMA3KM B MECTOX MPUMIEraHUS GAPKONA €& HYXHO YAAMTD.

B HekoTopbIX ABTOMOBUISX C MAPKTPOHUKAMM BO BPEMS €3[bl C YCTAHOBNEHHBIM KPIOKOM
MAPKTPOHUKM MOTYT OBHAPYXUTb LLAP KAK NMpensTcTeue. B 3Tom cnyyae Hopo nepeHacTpouTb
nepepensl Pagnyca AeNCTBUS AATHUKA UK UX BbIKITIOUUT. [TAPKTPOHMKN PABOTAOT KOPPEKTHO
B C/ly4de EMOHTAXA CbEMHOTO KPIOKA GapKomnal.

CrnenyeT yunTbIBATb MHPOPMALMIO N3rOTOBUTENS TPAHCNOPTHOIO CPEACTBA O MOKCUMASIbHOM
BEMYMHE HATPY3KM (MAKCYMASTBHAS MACCA MOSHOTO MPULIENA U AOMYCTUMAS BEPTUKANbHAS
HArPY3Ka HA WAp). 3aMpeLLaeTcs NPeBbILATL AOMYCTUMbIE NMAPAMETPbI CLEMHOro YCTPOMCTBA.

Bo BpeMs ByKCUPOBKYM MPULEN AOMXEH 6biTb COSAMHEH CTPAXOBOUHBIM TPOCOM (Lerbio).

Kaxpable 1000 kM cnefyeT NpoBepsTb 3ATAXKY BCEX COEAMHEeHN. PekoMeHayeTCs COaepXaTb
LA B YNCTOTE, UCMOMB30BATb MIACTUYHYIO CMA3KY Nepen KOXA0oM YCTAHOBKOW LLApA U1
NPUMEHSTL KONMNAYok. B cnydae e3gpl 6e3 npuuena HEO6XOAMMO CHSATb LLAP U YCTAHOBKUTb
3ArNYLLKY BO U3BEXAHME 3ArpsS3HEHNS MEXAHM3MA. Bce MexaHudyeckmne noBpexaeHus CLEemnHoro
YCTPONCTBA UCKIOYAIOT €ro AANbHENLLYIO SKCMMyATALMIO. [OBPEeXaeHHOe COeanHUTENBHOE
YCTPOWCTBO PEMOHTY HE MOASIEXUT. B crnyuae HapyLLeHns NpaBmM MOHTAXA UMM HEMPABUITBHOTO
MCMONb30BAHMS MPOU3BOAMUTESNb HE HECET OTBETCTBEHHOCTM 30 BO3MOXHbIE MOBPEXAEHMS.
Mepen KaxabM MOHTOXOM KPIOKA ero NMpUEMHOEe OTBEPCTUE HEOBXOQMMO OUYUCTUTL OT BCEX
BMOOB 3ArPSI3HEHUS N HOHECTU CUITMKOHOCOLEPXALLYIO CMA3KY.

[MpounzBoguTENnb rAPAHTUPYET COOTBETCTBUE U3AENNSA XAPAKTEPUCTUKAM, YKA3OHHbBIM B
rnacrnopTe, B Te4eHne rapaHTUMHOro CPOKA, Npwu coénoneHumn TpeéOBOHMVI No yCTAHOBKe U
SKCryaTaunn.

|_|pOl/l3BO£Ll/|TeJ'Ib He HeC&T OTBETCTBEHHOCTW 3a HOHeCeHWe yu.Lepéo MMYLLIeCTBY TPETbUX JNL, B
pe3ynbraTte HenpPaBUSTIbHOIO XPAHEeHWA 1 SKCNTyaTaunmn n3oenns.

CnepnyeT co6MoaaTh OTEYECTBEHHbIE NPaBUNa odopmneHmns TCY.

rOIpOHTVIﬂ He PACnpPOCTPAHAEeTCd HA Cny4Yau, Korgd ,D,ed)eKTbI BO3HUKIIM MO BUHE I'IOTpeél/ITeJ'Iﬂ
W TPETbUX NNL, B pe3yNbTaTe HApYyLLUEeHU NpaBMST TOAHCMNOPTUPLOBKN, XPAHEHNA, MOHTAXA,
3KCMNYATALMU, A TAK Xe BHECEHUS UIMEHEHNIN N D,OpOéOTOK B KOHCTPRYKLUMIO.

MHCcTpyKums no yctaHoBke TCY, pekoMeHayeMas MPOM3BOAUTENEM, 6bI1A PA3PAGOTAHA HA
OCHOBOHUM TEXHUYECKMX YCIIOBUI CO AHS MOArOTOBKM TEKCTA. B cnyyae nameHeni unm
MooMdUKALMM NPOLLECCA MPOQYKLMK, A TAKXE B Clydde paclumpeHus npumeHenmns TCY,
Npou3Bo4MTENb BNPOBE BHECTU U3MEHEHUS B TEKCT MIHCTPYKLMN.

-

Safety requirements:

8 88 ™

8 «

SEN

S

SESEN

S

Before mounting of the coupling device check the user manual and registration book of the
car whether the vehicle is equipped to tow a trailer.

Device has to be installed and operated in a car according to this instruction.
Do not install the product on another type of vehicle.

The installation of the coupling device should be provided only by specialized certified
service center. Any alterationor modification of the coupling device is prohibited.

Remove the insulating compound and underbody coating - if there is any - from the area
around the contact surface of the coupling device. In case you found the grease in the
contact areas of the towball, it must be removed.

In the case of vehicles equipped with parking sensors, ride with a mounted ball causes
detection it by sensors as obstacles. | In this case, adjust the sensing range or disable the
acoustic parking System. If using coupling device with removable ball, the acoustic parking
system should function normally when the ball of tow bar is not in the operating position.

It should be considered information provided by the vehicle manufacturer about the
maximum load value (maximum mass of the full trailer and permissible vertical load of the tow
ball) at the same time acceptable parameters of the coupling device cannot be exceeded.

The trailer must be linked with an elastic joint with proper durability (cord,chain).

Check the screw connections after driving approx. 1000 km and for loosening nuts, the bolts
must be tightened. Always keep the towball clean and lubricated with grease. Use the
towball shield. All mechanical damages of the coupling device preclude its further
exploitation. Damaged coupling device cannot be repaired. In case of braking the rules of
montage or improper usage manufacturer do not take responsibility for possible damages.

The manufacturer guarantees compliance of the product with the characteristics specified in
the these instruction during the warranty period, in case if all requirements to compliance
with manufacture installation requirements.

The manufacturer is not responsible for damage to the property of third parties as a result of
incorrect storage and operation of the product.

Follow national guidelines for technical acceptance of the coupling device.

The warranty does not apply in cases where defects appear due to the consumer or third
parties’ fault, as a result of violation of the transportation, storage, installation and operation
requirements, as well as changes and modifications into the construction.

Instruction for installing the coupling device recommended by the manufacturer in this
document was developed based on the technical specifications applicable at the date of
writing this text. In can be changed in case of introduced by the manufacturer modification
of the production process and in the case of extending the use of the coupling device.




